SOCIAL STUDIES 11

CANADA AT THE TURN OF THE CENTURY – NOTES

1. People were settling the West: industries were booming in the cities.

2. 1901 – 1914  Canada’s population jumped from 5 million to nearly 8 million.

3. Prime Minister Wilfred Laurier continued John A. Macdonald’s “National Policy” to  

    develop the Canadian economy through high tariffs (duties) on imported goods, a 

    transportation network, and opening the West.

    a. resources – fish, wheat, lumber, minerals (especially gold in the Klondike region of 

        the Yukon)

    b. government encouraged settlement in the West by advertising land at low prices.

    c. highways and transport trucks were not developed yet, so the Canadian Pacific

        Railway (CPR) was the most important transportation link between Western and 

        Eastern Canada.

    d. CPR could not keep up with demand so Laurier gave subsidies (government money)

        to 2 competing companies, the Grand Trunk Pacific and the Canadian Northern

        Railway, which were taken over by the Canadian government in 1923 and called the

        Canadian National Railway (CNR).

4. Clifford Sifton, Minister of the Interior, started a huge advertising campaign (especially in

    Eastern Europe) to attract new immigrants to Canada.

    a. Pull Factors:

· pamphlets and posters promising free land in Canada’s West

· steamship companies got a bonus from the Immigration Department if they 

directed farmers to Canada

· there were many work opportunities in Canada

· people were free to practice their own religion and enjoy many other freedoms

of a democratic society

 b. Push Factors:

· fleeing poor economic conditions, overcrowded cities, expensive and scarce

farmland

· many people in Eastern Europe and the Russian Empire faced persecution 

because of their religion

· work was limited, Europe was preparing for war

5. Home Children – until 1935, over 80,000 orphans or unwanted children were sent to

    work in Canada from Britain in return for free room and board.

6. Discrimination – Canadian immigration regulations were particularly discriminating 

    against East Indians, Blacks, and Asians.

7. Growth of Cities

· rapid industrialization increased the demand for industrial workers.

· increasing mechanization of farming reduced the need for manpower on the farm.

· growing need for service workers in towns near farms drew more workers away

from working the land.

8. The Creation of Alberta and Saskatchewan – 1905 because:

· of the growing population of the Prairie region.

· it was hard for the federal government to continue with the earlier method of

governing the region.

9. Canada had its own government, but Britain still governed in areas such as defence 

     and foreign affairs.

     a. Manitoba Schools Dispute, 1890 – 1896

· Issue – 1890 Manitoba Schools Act cut off money for Roman Catholic schools in 

the province, and made English the only language of instruction.

· Laurier compromised – Manitoba would not have to support Catholic schools, but

the public system would provide half an hour at the end of each day for religious

              instruction; a French-speaking teacher would be provided wherever 10 or more

              students spoke French.

· Significance – neither side was totally satisfied; it led to divisions between English

and French Canadians.

 b. Boer War, 1899 – 1902
· Issue – Britain was at war with the Boers (Dutch descendants) who lived in South
Africa.  Britain wanted Canada to send an army to help fight.  French-Canadians

didn’t feel they should have to fight a war that didn’t involve them.

· Laurier compromised – he sent a volunteer army and paid their way.
· Significance – French-Canadians thought Laurier did too much; English-Canadians thought Laurier did too little.
       c. Alaska Boundary Dispute, 1903

· Issue – During the Klondike gold rush, Canada and the U.S. wanted access to gold fields and argued over ownership of the Alaska Panhandle.  The decision
was left to 3 American judges, 2 Canadian judges, and 1 British judge.

· Result – The British judge sided with the Americans.
· Significance – Canadians concluded that in the future they would control their
own foreign affairs.

 d. Naval Crisis, 1910
· Issue – With the possibility of war with Germany, Britain asked Canada to build naval ships and give them to Britain.  French-Canadians felt they shouldn’t, English-Canadians thought they should.
· Laurier compromised – Canada would create its own navy and serve Britain (Naval Service Bill).  Pro-British Canadians called it a “tin pot navy” because it gave Britain too little too late; French-Canadians felt that Laurier had given too much.
· Significance – French-English relations were strained.
 e. Reciprocity, 1911 (free trade with the U.S.)
· Issue – farmers supported reciprocity as it would make it less expensive to buy machinery from the U.S.  Businesses did not like the idea of new competitors for Canada’s protected industries.
· No compromise – Laurier supported reciprocity, and lost the election to Conservative Robert Borden.
· Significance – the Laurier era was over.
